


ORDER AND RANKING



* SAME PERSON

* TWO OR MORE THAN TWO PERSON



In  a row of some persons Aarav is 4th from the left end and  6th form the right end.

Find number of person ?
कुछ व्यक्तियों की एक पंक्ति में आरव बाएं छोर से चौथे स्थान पर है और दाएं छोर से छठे 
स्थान पर है।
व्यक्ति की सखं्या ज्ञाि कीक्िये?



In row person Ankit is 3RD left of Kapil who is 10th from 

the right end of row ?

पंक्ति में व्यक्ति, अंकिि िपपल िे बायें िीसरा है जो पंक्ति िे दायें छोर
से 10वां है?

What is rank of Ankit from right end?
दायें छोर से अकंिि िा स्थान तया है?

1- 7

2- 13

3- 12

4- 8



In row of 50 students ,  Arpit is 3rd left of shubham who is 

10th from the right end.

Find Arpit’s position from left end ? 
50 पवद्यार्थियों िी पंक्ति में अपपिि शुभम िे बायें से िीसरे स्थान 
पर है, जो दायें छोर से 10वें स्थान पर है।
बाएं छोर से अपपिि िी क्स्थति ज्ञाि िीक्जए?

1- 36

2- 37

3- 38

4- 39



TWO OR MORE THAN TWO PERSON

In a row Aman is 5th from the left and Manish is 7th from the right, if there 

are 2 person sits between them find total? Find number of person?
एि पंक्ति में अमन बाएं से 5वें स्थान पर है और मनीष दाएं से 7वें स्थान पर है, यदद उनिे
बीच 2 व्यक्ति बैठे हैं िो िुल ज्ञाि िीक्जए? व्यक्ति िी सखं्या ज्ञाि िीक्जये?



In a row of persons Hasnain is 10th from the left and Suryaa is 9th from 

the right, if there are 8 person sits between them find total? Find 

number of person?
व्यक्तियों िी एि पंक्ति में हसनैन बायें से 10वें स्थान पर है और सूयाि दायें से 9वें स्थान पर
है, यदद उनिे बीच 8 व्यक्ति बैठे हैं िो िुल ज्ञाि िीक्जए? व्यक्ति िी संख्या ज्ञाि िीक्जये?

1- 27

2- 9

3- 27 or 9

4 – 27 and 9



In a row of 25 students. Arpit is 19th from right and Aarav is 

21st from left. How many students are there between Arpit
and Aarav?
25 छात्रों की एक पंक्ति में। अक्तपित दायें से 19वें और आरव बायें से 21वें स्थान पर हैं। अक्तपित और आरव

के मध्य क्तकतने क्तवद्याथी हैं?

1 – 17

2- 15

3- 13

4 - 12


